Brain Teasers

1. A solid, four-inch cube of wood is coated with blue paint on all six sides. Then the cube is cut into smaller one-inch cubes. These new one-inch cubes will have either three blue sides, two blue sides, one blue side, or no blue sides. How many of each will there be?

2. Four adventurers (Anand, Brinda, Chris and Tariq) need to cross a river in a small canoe.

The canoe can only carry 100kg. Anand weighs 90kg, Brinda weighs 80kg, Chris weighs 60kg and Tariq weighs 40 kg, and they have 20kg of supplies. How do they get across?

3. How many steps are required to break an m x n bar of chocolate into 1 x 1 pieces? Here m is the number of squares along the length and n is the number of squares across. You cannot break two or more pieces at once (so no cutting through stacks).
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